ddliws

Problem.

an obstacle which makes it difficult to achieve a desired goal, objective or purpose
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Algorithm.

an effective method for solving a problem expressed as a finite sequence of instructions
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Start
T=A
A=B
B=T
Stop
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Flowchart.

A flowchart is a common type of diagram, that represents an algorithm or process,
showing the steps as boxes of various kinds, and their order
by connecting these with arrows.
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/ Problem: Sum of 1 to 100

Flowchart:

Start

X

Sum=0

Counter=1
A 4
IS Sum = Sum+Counter
No—»
ounter=100? Counter = Counter+1
Yes
PRINT Sum
- -
- -
Y
End

- - L
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